National 5 Homework : 1 year course
Algebraic Skills

1. Remove the brackets:

(@) 2(x+5) (b) y(@-y) () 2x(3x-5y)  (d)
2  Simplify the following expressions:

(@ 3(2c+d)-2d (b)) 5p(p-2)-4p(p-56)

3 Multiply out the brackets then simplify the following expressions:
@ (+Ix+2) (B (@-D@+d © x-2° (@
(e) Bp-D(2p+3)-2p () (x=2)(4x*-3x+2)

4  Factorise the following expressions completely:

(@ 6a+3p () 4-x° (d) t>+6t-16 (e)
() 4a’+4a+1 (h)y 3d°-4d-4 (j) 4x®-10x*—-6x

5 Complete the square for:

(@ xz+8x (b) t2+6t-1 (c) 4d2-16d+3
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c’(c®+c—4)

Gx=)(4x+7)

h? -13h+36



